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The Method That Reduce CNFSAT to HornSAT

KoJ1 KoBayasHi'!

This presentation talks about the method to reduce CNFSAT to HornSAT.
HornSAT is P-complete. And HornSAT have the feature that’s clause have par-
tial order in satisfiability. So HornSAT’s clause affects locally, and computer
can treat HornSAT easily. But CNFSAT is NP-complete. And CNFSAT’s
clause affects each other and affects all CNF clauses. And the feature makes it
difficult to reduce CNFSAT to HornSAT. This presentation focuses attention
on the relation of the CNFSAT’s clauses to reduce CNFSAT to HornSAT. CNF-
SAT’s clauses relations are two types. One is the relation between same variable
and same positive/negative relations. One is the relation between same variable
but different positive/negative relations. To create the HornSAT’s clauses those
have same constraint of the CNFSAT’s clause relations, I get the HornSAT that
reduce from CNFSAT.
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